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１ 次の計算をしなさい。 

① 4𝑎 × 3𝑏         ② 5𝑥 × (−2𝑦)      ③   nm 24   

 

 

 

④    ab 63        ⑤ bc
5
1

3
2

         ⑥  yx 4
8
7

  

 

 

 

２ 次の計算をしなさい。 

① 36𝑎𝑏 ÷ 9𝑏      ②  yxy 412       ③ 20𝑎2 ÷ 5𝑎    ④    xx 26 3   

 

 

 

 

３ 次の計算をしなさい。 

① 8𝑥 × 2𝑥2      ②  24a       ③ (−𝑚)2 × 6𝑚     ④  22
4
1 xx  

 

 

 

 

４ 3x , 2y のとき、次の式の値を求めなさい。 

① 2𝑥 + 𝑦          ② yx 52          ウ．𝑥2 − 𝑦2 

 

 

 

 

 

５ 4x , 3y のとき、次の式の値を求めなさい。 

① 𝑥2 + 3𝑦          ② 
2yxy           ③ 2𝑥2 + 

1
3

𝑦2
 

 

 

 

 

 

 

式の計算（単項式の乗法・除法） 
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